ECS 315: In-Class Exercise # 15

Instructions

1.

2.

2.

Separate into groups of no more than three persons. The group cannot be the same
as any of your former groups after the midterm.

Date: 01 /11 /2018

Name

I D (last 3 digits)

Prapun

55655

Write down all the steps that you have done to obtain your answers. You may not get
full credit even when your answer is correct without showing how you get your

answer.

Do not panic.

limes. Use Poisson approximation to find the probability that you get “tails for all the tosses”.

=P
. You I ie iiven an unfair coin with probability of obtaining a heads equal tou toss this coin

Letr N be #ni. RV
A
The number of successes (Hs) in n Bernoulli trials is binomial(n,p) where p is the success probability for each trial.

Hert we wont to find P[N=0]

When n is large and p is small, the binomial RV can be approxinated by a Poisson() RV where o = 2
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Find the expected value of the random variable X defined in each part below:
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b. Py (x): c, X=2, 1 °© c =05
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0, otherwise.
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EX = 2 Pl =(1)0.25+ (2)0.5 + (3)0.25 =0.25 +{ +0.35 =2,
”

0, X This cdf has two JUmPs; one s @ x=o wd
C. FX (X)Z 0.3, X arothers one i» @ e=A,

1 X > The jump sizes ave 0.3 ond 1-0.320.3  vespectively.
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o, otrerwine.

EX = 2 2Pt =(0)0.3 + (2)0-7 = 1.4
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